Polar and Rectangular Forms of Equations

Convert each equation from polar to rectangular form.

1) tan 6 =2 2) r=4cos & —4sin &

3) r=-2cos & 4) r=2cos &+ 2sin &

Convert each equation from rectangular to polar form.

5) (x—1)*+(y+1)*=2 6) x=y’
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Convert each equation from polar to rectangular form.
9) r=dcsc |6 +%] 10) 7=2sin|@ +%]

11) 7% =35sec (26) 12) #* =4sec (26)



Answers

Convert each equation from polar to rectangular form.

1) tan 8 =2 2) r=4cos 6 —4sm &
y=2x (x—2)+(y+2)°*=8

3) r=—2cos & 4) r=2cos @+ 2sin &
(x+1)+ =1 (x— 1) +(y-1)7*=2

Convert each equation from rectangular to polar form.

5) (x—1)+(r+1)1=2 6) x=1"

=2cos @ —2sin &

7) x=y"

7= cot fese &

8) v=

7 =cot dcsc &
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7= 5Stan Hsec &

Convert each equation from polar to rectangular form.

9) r=4csc 6+£] 10) 7= 2sin g+1]
3 vy
_ X V3 N 83 [ A2) ( 2 )
3 3 '.1_ o Ly

11) 7 =3sec (26)
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12) 7 =4sec (26)
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